1. Esegui le equivalenze

3,76 M = .. (o] ¢ T dm = ....covvviinnnn . mm
4,8dm = ..o MM = iiiiiiieeeenns (o] T m
0,3dam = ..cciiiiiiiiiiinnnnn. dm = ... 0 mm
6.98 hm= .....ccviiiiiiinnn, dam = ... 1 dm
0,76 KM= .....vvvvvviiiinnnnns hm = ......ooooeeee dam = .. m
2. Completa km| hm |[dam| m |dm | cm | mm misura
8 m9 hm hm
7dm4 m dm
6cm 4dm 9 mm mm
5hm 7m dam
5m 3dm 6cm dm
4 km 7 dam hm
6m 8 cm cm
9mm 3 cm dm
2 hm 1km m
3km 9m 2 hm km

3. Scrivi il valore della cifra evidenziata.

58, 68 km = ............. 6580m-=.......... 3,678 m = .............
589 dam = ............. 73 hm = ............. 23,7 dam = .............
0,34 cm = ............. 12,7 cm = ............. 567 cm = .............
345 mm = ............. 2,45 km = ............. 43,7 dam = .............

2 dam = 0,02
345 mm =345
0,38 km = 380

5,67 hm = 567
7,25km=72,5
3 560 mm = 356
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